Geometry






Name _______________________________

Worksheet 6.4A
For #1-3, JKLM is a parallelogram.  Find the perimeter of JKLM.

1.     __________
2.    __________
3.
 __________
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For #4-6, JKLM is a parallelogram.  Find the missing angle measures.
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For #7-8, solve for x in the parallelograms shown.  Show all work.
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9.
If the perimeter of a parallelogram is 100 and one of its sides has length 30, draw a diagram and find the lengths of the other three sides.

10.
If the perimeter of a parallelogram is 42 and one of its sides has length 15, draw a diagram and find the lengths of the other three sides.

11.
Find the length of both diagonals.
12.
Find the length of both diagonals.






13.
If the sum of both diagonals of parallelogram ABCD is 60 and AC = 20, find the following lengths …


AE = ________
BD = ________


BE = ________
DE = ________

14.
Solve for x and y in the parallelogram shown.
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